AEZE A (K8 /4 47 8)

FA A A (wh2] @A)
woprg A% | BA | AT RERE %A% RESE 2AFAA | el | A
A 3,201,697 160,063,806 156,862,109
s 13,201,739 152,976,175 149,774,436
SolLxZE S £A2,923,163 142,113,904 139,190,741
AFFSEFEA Y A243,000 11,707,178 11,464,178
AN LY A243,000 9,321,636 9,078,636
AEHRFEFAANA £243,000 7,831,188 7,588,188
1. A SA A B A243,000 7,831,188 7,588,188
7}, AR Q) Z AT EA} A10,000 1,173,200 1,163,200
1) AAn)] 10,000 1,173,200 1,163,200
7H A zzr) A 420—02 1998,000,00049 — <71%>1,008,000,000¢ = A10,000 1,008,000 998,000
U, e QoA S i = A188,000 1,895,753 1,707,753
1) }\]/‘\?4_];]] 420-03 |1,707,753,000¢ — <7]1%>1,895,753,000¢ = A188,000 1,895,753 1,707,753
ot AI) 2 AT EAFAIE DAL A A 220,000 141,202 121,202
1) A AH] A20,000 136,824 116,824
7 ZAYEXF 420—03 |44,464,0009 — <7174>64,464,0009 = A20,000 64,464 44,464
gt SHEATEASALEIAL A A A25,000 121,662 96,662
1) AAH] 25,000 117,808 92,808
b 2 EXH 420-03 |51,488,0009 — <7]%>55,488,0009= A4,000 55,488 51,488
) H AN 420-03 |200,0009 — <7]1%4>5,200,0009= A5,000 5,200 200
th) ZelAguleA) 420-03 141,120,0009 — <714>57,120,000¢ = A16,000 57,120 41,120
BAZA A281,317 31,798,461 31,517,144
Z2 7 g A281,317 31,787,861 31,506,544
S Faed 29,697 25,559,127 25,549,430
1. $5 2252800024 279,697 1,103,074 1,093,377
7}, S-SR X 9] A5,384 612,819 607,435
1) 29 A 620-10 45,581,0009 — <7]14>47,610,000¢ = 72,029 47,610 45,581
2) x=8w A198 271,393 271,195
7h =9 610-01 7,802,000 — <7]14>8,000,0004 = A198 8,000 7,802
3) =8k A3,157 139,778 136,621
7H A+ 620-10 24,843,0009 — <7]14>28,000,000¢ = A3,157 28,000 24,843
U, Aol = a2 4] 9] A4,313 490,255 485,942
1) XY A 620-10 36,464,0009 — <7]174>38,088,0009 = A1,624 38,088 36,464
IS — FoldxFeus — g — 52438 - dugded




e | Al Apelvel z = RESE 2AFAE | AFel | R
A A
9) =31 AT58 217114 216,356
b =9 610-01 [6,242,0009 — <7]1%>7,000,000¢ = AT58 7,000 6,242
3) Z=38kw 1,931 111,822 109,891
7H AH 620—10 |20,069,000¢ — <7173>22,000,00091 = A1,931 22,000 20,069
st FA A MNA A271,620 6,228,734 5,957,114
1. S FA)|FUAEE = £~271,620 6,228,734 5,957,114
7}, F-2)n) xpol B A ) 271,620 435,435 163,815
1) 8% 620-03 |15,477,0009 — <7]4>213,517,0009 = ~198,040 213,517 15,477
2) »Y= 620-03 |41,873,0009 — <7]4>115,453,0009 = A73,580 115,453 41,873
AAE AN 22,398,846 55,187,940 52,789,094
A | x| A A 48,207 6,056,347 6,008,140
g A=A 48,207 6,056,347 6,008,140
1. 8224 48,207 2,251,367 2,203,160
7}, AT A S e ~48,207 525,670 477,463
1) A A48,207 525,670 477,463
71 EQEw A 420-03 |7,121,0009 — <71%>23,040,000¢ = 15,919 23,040 7,121
W) =3 AN 74 420-03 |56,473,0009 — <71 4>58,880,0009 = 2,407 58,880 56,473
) sl 420-03 |126,989,0008 — <7]%>156,870,0008 = 729,881 156,870 126,989
A A A 22,350,639 49,131,593 46,780,954
S dEF A40,655 2,415,358 2,374,703
1. =3 AAHEEA 723,688 305,196 281,508
7}, T ok FARE 3 By 9] 5 7] % H 7 £23,688 288,669 264,981
1) A4 ~23,688 268,264 244,576
b EEH A (A A ) 420-03 |83,014,0009 — <7]%>101,530,0009 = A18,516 101,530 83,014
) EaEH A (A E 8 420-03 |123,281,0009 — <7]1%>128,453,0009 = AB,172 128,453 123,281
2. ZuAA 216,967 358,115 341,148
7. EEGxAdF == N6,275 81,557 75,282
1) AAm 420-02 [452,0009 — <714>6,727,0009 = ~6,275 6,727 452
U S Y2 EE A7,606 92,186 84,580
1) AAm 420-02 |09 — <71%>7,606,00091 = A7,606 7,606
o AAA xR TEE A3,086 92,186 89,100
1) A A3,086 84,580 81,494




ol RERE % A% BES 242 | 7R
H HuE= 420-03 |81,494,0009) — <717%>84,580,00091= A3,086 84,580 81,494
IA|AAZBANA 22,309,984 46,716,235 44,406,251
1. AAFSA 21,178,007 19,552,270 18,374,263
7}, v A31,255 2,739,028 2,707,773
1) A]AdH] A31,255 2,644,665 2,613,410
7hH AbEE 420-03 [88,102,0009 — <71%>95,455,0009 = A~7,353 95,455 88,102
W) dAbEasx 420-03 |1,303,00091 — <71%>11,230,00091= N9,927 11,230 1,303
oh) AbetE] &% 420-03 133,611,0009 — <7178>134,760,0009 = A1,149 134,760 133,611
2} FAakm % 420-03 |43,115,0009) — <71%>44,920,0009 = A1,805 44,920 43,115
n}) FAbEol % 420-03 122,669,0009 — <7]174>33,690,0004 = 211,021 33,690 22,669
U 9 B# T w A A492,482 7,977,593 7,485,111
1) AAM 420-02 | 140,740,0009 — <713>163,186,0004 = N22,446 163,186 140,740
2) A]Adn) A470,036 7,794,620 7,324,584
7H EFx 420-03 |153,859,000¢) — <717%>154,860,000¢ = A1,001 154,860 153,859
W) stEan 420-03 789,640,0009 — <71%>1,135,640,000¢= A346,000 1,135,640 789,640
o) A== 420-03 |1.544,936,000¢] — <714>1,548,600,000¢1 = A3,664 1,548,600 1,544,936
g}.) E—)ﬂ-}ﬂ fsﬂg‘: 420-03 |1,501,915,000¢ — <71%>1,587,315,000¢ = A85,400 1,587,315 1,501,915
ul) FARE = 420-03 |120,889,000¢ — <71%>154,860,000¢) = A33,971 154,860 120,889
(IR ReARD == S A185,052 4,159,261 3,974,209
1) A AN 420-02 | 167,203,0009 — <71%>184,706,0004 = A17,503 184,706 167,203
2) A]Adn) A167,549 3,961,677 3,794,128
71 AP S (W H S 420-03 12,020,000 — <71%>14,151,000€ = 212,131 14,151 2,020
W) sS4 (E s ) 420-03 184,513,0009 — <7174>187,748,0009 = A3,235 187,748 184,513
th AFx(JHERS) 420-03 |591,788,000¢ — <71%>682,720,00091 = ~90,932 682,720 591,788
) FE X (¥ RS 420-03 |25,889,0009 — <71%>33,490,0009= AT7,601 33,490 25,889
o) Az (RS 420-03 |274,204,0009 — <71%>279,058,00091 = 24,854 279,058 274,204
Hp) FARY 2 (9] B 2R) 420-03 80,000,0009 — <7173>128,796,000¢4 = N48,796 128,796 80,000
g} A BK A155,324 433,596 278,272
1) A A 420-02 4,409,0009 — <7]17%>20,492,000¢ = A16,083 20,492 4,409
2) A]Adn) A139,241 410,150 270,909
7H A ey (HESE) 420-03 [154,694,0009 — <717%>220,850,000¢ = 166,156 220,850 154,694
W) VA AZ L (ESE) 420-03 |116,215,000¢ — <7]17%4>189,300,0008 = A73,085 189,300 116,215




o) 1=
o I RERE ENE RENE 2A2ANE | AR | G A

u}. 7] e} 2,703,319 2,389,425
1) A Amn] 420-02 118,820,0009 — <7]14>21,259,000¢ = 21,259 18,820

) A A H) 420-02 |09 - <71%>26,338,000¢4 = 26,338
3) A1Adn] 2,640,180 2,370,605
7hH dAME Y= (d g rdd) 420—-03 ]1,564,070,000€ - <71%>1,812,752,000¥ = 1,812,752 1,564,070
W) #AMEE S (A dAd g md =) 420-03 |139,307,0009 — <71%>160,200,000 = 160,200 139,307

4) 7Fgn) 420-04 |0 — <71%>10,304,000¢1 = 10,304

5) AAHE- ] 420-05 |09 — <71%>5,238,000¢ = 5,238
2. LA AN 1,725,825 1,693,337
7t Bk 1,340,825 1,308,337
1) Al4dn] 1,293,770 1,267,641
7hH A% 420—-03 |109,167,0009 — <71%>128,320,0009 = 128,320 109,167
W) FAbold &% 420-03 [438,726,0009 — <7]1%>441,100,000¢ = 441,100 438,726
o A x 420—-03 [133,351,0009 — <714>136,340,000¢ = 136,340 133,351
2 9% 420-03 [118,687,0009 — <71%>120,300,000¢= 120,300 118,687
2) A H-tin] 420-05 |770,0009 — <7]1%>7,129,0008= 7,129 770
3. A b ANA 7,509,067 7,808,979
7F WX R 7 1,047,905
D W B7EA 294,905
7B 708 %(1,397m’) 420-02 110,181,0009 x 14 = 10,181
W) FAEEZ(6,681m) 420-02 145,818,0009 x14] = 45,818
th) kA% (5,205m) 420-02 131,393,000 x 14 = 31,393
) TFAFSFE (4,729m) 420-02 |42,424,0009 x 14 = 42,424
) AdAFZ (688m’) 420-02 |20,000,0009 x 12 = 20,000
v S 7% (1,719m) 420-02 |11,030,0009 x 12 = 11,030
AH) AR E (2,537 mY) 420-02 120,363,000¢ x 124 = 20,363
ob) Ak EF (5,443 m") 420-02 |35,636,0009 X 14]= 35,636
A A A S 3.(9,778m') 420-02 |67,030,0009 x 12 = 67,030
2h) AR (1,571m) 420-02 [11,030,0009 x 12 = 11,030
2) WX RZFAL 753,000
7h 2d4k% (688 m’) 420-03 |300,000,0009 x 121 = 300,000
W) &3 %(1,719m) 420-03 |285,000,0009 X 124]= 285,000
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T A (k9] © 29
2 o) 1=
woprg A% | BA | AT Areduge) 2% SN 2AFAAE | AgAR | g
o) FAbE (1,571 m) 420-03 168,000,000 x 12 = 168,000 168,000
|5 et s e A~12,059 85,094 73,035
1) A4 A12,059 85,094 73,035
7hH 93 % 420-01 |5,382,0009 — <7]%>6,822,0009= A1,440 6,822 5,382
W) #Absx 420-01 |5,643,0009 — <7]14>8,050,000¢ = A2,407 8,050 5,643
o etz 420-01 |09 — <71 4>1,862,0009 = 71,862 1,862
2} TAM 1 420-01 ]3,890,0009 — <71%>6,168,0004 = N2,278 6,168 3,890
np) FA A Z T 420-01 |16,110,0009 — <71%>20,182,000¢ = ~4,072 20,182 16,110
=S AR RS ~208,334 1,609,843 1,401,509
1) WK A ~18,796 160,618 141,822
7hH 28 % 420-02 |38,220,0009 — <71%>40,000,0009 = A1,780 40,000 38,220
) AAkx 420-03 |3,602,0009 — <71%>20,618,000¢ = A17,016 20,618 3,602
2) WA B A} ~189,538 1,449,225 1,259,687
78 AR % (4819.56m) 420-03 |321,788,000¢ — <714>370,000,000¢= ~48,212 370,000 321,788
W) FARA 8% (4,132.8m) 420-03 |220,000,0009 — <714>300,000,000¢ = 80,000 300,000 220,000
o ~28% 420-03 |285,604,0009 — <714>299,225,0009 = A13,621 299,225 285,604
2}h) heln] (HAkA sl 2) 420-04 |15,745,0009 — <71%>30,000,0009 = A14,255 30,000 15,745
vh) AAFE(1,211m) 420-03 |116,550,0009 — <71%>150,000,0009 = A33,450 150,000 116,550
2k A (A ) oA A194,762 1,352,824 1,158,062
1) A A 420-02 120,421,0009 — <71%8>46,416,0009 = A25,995 46,416 20,421
2) Al/dn] A168,767 1,298,951 1,130,184
7h B % 420-03 |11,997,0009 — <71%>53,458,0008 = A41,461 53,458 11,997
W) A= 420-03 |54,935,0009 — <71%>66,823,0009 = ~11,888 66,823 54,935
o) AR EE 420-03 579,536,00091 — <714>694,954,000¢ = A115,418 694,954 579,536
u}, Eeto]n] E i 4| 39,869 2,857,363 2,817,494
1) A1AH] 39,869 2,747,648 2,707,779
7hH FAEYE 420-03 |260,655,0009 — <714>300,524,0009 = 239,869 300,524 260,655
uf, - A253,159 416,100 162,941
1) A1AH] A253,159 416,100 162,941
7H A A EL 1 420-03 (162,941,000 — <7]1%>416,100,000¢4 = ~253,159 416,100 162,941
Ab. HF3HA E £~39,810 119,756 79,946
1) A4 ~39,810 111,160 71,350
WL - FolREFERS — AN — StmAEAA — StaAl BB




o I Apelvel CHp RESE 2AFAE | Aol | g
7hH TAREEE 420-03 |71,350,0009 — <71%>111,160,000¢ = 239,810 111,160 71,350
4. JF-EHMNA 355,387 2,869,214 2,513,827
7}, 71k 252,000 636,000 584,000
1) A1AH] 52,000 636,000 584,000
71 Ak 1 (B2 E) 420-03 |09 - <71%>52,000,000¢4 = A52,000 52,000
. Al ~303,387 2,083,217 1,779,830
1) 9% 13,333 189,720 176,387
7hH AAkx 420-03 109,427,000 — <714>122,760,0009 = ~13,333 122,760 109,427
2) &9 £29,200 29,200
7hH S5 420-03 |09 — <7]1%>29,200,000€= 229,200 29,200
3) W= ~89,084 318,712 229,628
7h =1 420-03 |09 — <714>16,632,0004= A16,632 16,632
W) AR 420-03 [87,527,0009 — <71%>88,830,0008 = 1,303 88,830 87,527
o) AR 420-03 |4,451,0009 — <71%>37,800,0009= A33,349 37,800 4,451
2h) FA A TG A 420-03 |09 — <71%>37,800,0009= 37,800 37,800
4) A £~93,570 1,080,641 987,071
7h A TF 420-03 |10,248,0009 — <7]%8>22,848,0009 = 212,600 22,848 10,248
W) AR E S 420-03 [145,618,0009 — <7]1%>157,500,000¢4 = A11,882 157,500 145,618
) RS 420-03 |69,848,0009 — <71%>126,000,0009 = 56,152 126,000 69,848
) AR E 420-03 |17,072,0009 — <71%>30,008,0004 = A12,936 30,008 17,072
5 d4E% A67,200 150,720 83,520
7 st 420-03 |09 — <71%>67,200,0009= A67,200 67,200
6) 7] E} A11,000 206,848 195,848
7H FAR-YE A (L E) 420-03 126,440,000 — <71%>37,440,0009= A11,000 37,440 26,440
5. A7|A1A WA A108,826 1,453,580 1,344,754
7} 2 A4 (LED) ~80,762 219,285 138,523
1) A1AH] 180,762 208,770 128,008
7H FAFE R 2= (A H AL 420-03 |83,731,0009 — <71%>107,900,000¢ = ~24,169 107,900 83,731
) bk x 420-03 |09 — <7]14>24,900,000€= 24,900 24,900
o)) A2 420-03 |09 — <7]14>16,600,0009= 16,600 16,600
) &z 420-03 4,437,0009 — <71%>5,520,0009 = A1,083 5,520 4,437
) &4 = 420-03 3,960,000 — <7]%>5,520,0009= 1,560 5,520 3,960
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A (9] - He)
2 o) 1=
$P N o R 5% Y E 2A5AAE | AR | G A
vh) njEx 420-03 |09 - <71%>12,450,000¢ = A12,450 12,450
U Az A8 A A15,064 126,045 110,981
1) AAm] 420-02 4,064,000 — <7]18>6,045,000 = A1,981 6,045 4,064
2) Al%dn] 13,083 120,000 106,917
7h) AR E 420-03 49,100,000 — <71%>60,000,0004 = 210,900 60,000 49,100
W) 3= 420-03 |57,817,0009 — <71%>60,000,000¢ = ~2,183 60,000 57,817
ok A7) 2 A Al A13,000 1,041,026 1,028,026
1) A4 13,000 1,038,198 1,025,198
7hH A g =o] 1 420-03 [80,744,0009 — <71%>93,744,0009 = 13,000 93,744 80,744
6. AN AANETFEF 769,564 1,230,375 1,160,811
7F A A DAANE S A ~69,564 1,230,375 1,160,811
1) T HF 620-04 171,622,0009 — <7]1%>174,500,000 N2,878 174,500 171,622
2) Ak 620—-04 |61,237,0009 — <71%>62,730,0009 = A1,493 62,730 61,237
3) wARAF I 620—-04 |14,007,0009 — <71%>79,200,000¢ = 765,193 79,200 14,007
7. AN £~234,355 4,314,634 4,080,279
7t A7l ~234,355 4,314,634 4,080,279
1) A1AH] ~234,355 4,183,200 3,948,845
7h e 420-03 |379,978,0009 — <714>418,320,0009 = 738,342 418,320 379,978
) AAakx 420-03 |179,078,0009 — <714>209,160,0009 = 30,082 209,160 179,078
o) FAA] % 420-03 |75,662,0009 — <71%>104,580,0004 = ~28,918 104,580 75,662
2} TAREE X 420-03 ]943,510,0009 — <71%>993,510,0009 = A50,000 993,510 943,510
uh) FARS R 420-03 |385,520,0009 — <714>418,320,00094= 232,800 418,320 385,520
Hh) A A T AL 420-03 364,107,000 — <714>418,320,0009 = A54,213 418,320 364,107
8. Al A NAE (XD 195,518 31,725 227,243
7F AF a9 A s A ek B 100,549 100,549
1) A= 620—13 |100,549,0009 x 17/ 5= 100,549 100,549
5 S AR RA S 94,969 94,969
1) R B A 16,969 16,969
7H A% (6,689m) 620-11 |16,969,0009 x 14] = 16,969 16,969
2) WA R ZFAL 78,000 78,000
7h A E (6,689m) 62011 |78,000,0009 x 14]= 78,000 78,000
9. I ANEAF £826,787 6,128,717 5,301,930
REFEWE - WA AN — SFIARAN — A LB AR




A A (k9] - )
Z (e} H
woprg A% | BA | AT RERE Boa% AU 2AFAA | el | A
7 AR T B F N E A768,829 768,829
1) A]An) 420-03 |0€ — <7]14>768,829,000¢ = ~768,829 768,829
U, SH xR g g ~425,439 425,439
1) A]An) 420-03 |09 - <7]174>425,439,0004 = ~425,439 425,439
o AT G =S ENE 959,376 513,444 1,472,820
1) A]Adn] 420-03 |1,472,820,0009 — <7]4>513,444,0009 = 959,376 513,444 1,472,820
g JxZE2AE)E 286,814 286,814
1) A]Adn] 420-03 |0€ — <7]14>286,814,000¢ = ~286,814 286,814
uh, G xEAE )= ~305,081 305,081
1) A]Adn] 420-03 |0€ — <714>305,081,000¢ = £305,081 305,081
TEYur A278,576 10,561,294 10,282,718
AP A Au) 183,205 9,066,639 8,883,434
A uj| X] A 2 A183,205 8,144,263 7,961,058
s H) ] A 2 B 183,205 3,779,541 3,696,336
1. 2 AX Y 2169,910 3,496,561 3,326,651
7].‘ @Aﬂ]ﬂ}\o] ;‘<].E 210—-07 ]2,432,778,000¢ — <717>2,538,186,000¢ = A 105,408 2,538,186 2,432,778
U AA AL xR A BAE 310-02 |85,784,0009 — <71%>122,345,0009 = 36,561 122,345 85,784
oh A A H A A A 2R 210-07 |72,963,0009 — <71%>87,904,0009 = A14,941 87,904 72,963
g}, B3 Aol 430—-01 |447,000,000€ — <714>460,000,000€1= ~13,000 460,000 447,000
2. A=Y 213,295 275,930 262,635
7}. &F4m] ~13,295 102,000 88,705
1) Al 310-01 |13,947,0009 — <71%>18,000,000¢ = 74,053 18,000 13,947
2 8 Ay 310-01 |74,758,0009 — <71%>84,000,0009 = 279,242 84,000 74,758
71389 295,371 1,494,655 1,399,284
5P 7)1 FA A2 295,371 557,538 462,167
R K E R 295,371 557,538 462,167
1. ZSX YA A 295,371 557,538 462,167
7}, e A A AE S5 795,371 400,668 305,297
1) A]AdH] £95,371 400,668 305,297
7h 9] HR- %5 WA 420-03 |111,109,000€ — <714>206,480,0004= 795,371 206,480 111,109
of| v H) 42 113,313 113,355
R 42 113,313 113,355
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RS E (e -

Hof R ck &4 Al Abel el == PNER IS ox}Z=A A | 7)Ao At i
= G /\]—‘ﬁ /\]—‘ﬁ A]"ﬁ = =1 = o= Al T 76 TR <) Oﬂ =] =] 74]
AH v L7 et 42 113,313 113,355
oAuju| 7] et 42 113,313 113,355
AR &5 42 113,313 113,355
1. AR EZF 42 113,313 113,355
7}, A AA B2 3 ok g) 42 60,394 60,436
1) 87| Z=F 219 710-02 |60,436,0009 — <71%>60,394,0009 = 42 60,394 60,436
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EEREE!

AZ 2B A (R 5/4 4 7))

9]

s Al At U ¢ B — A = AHEU Y 2257 A A | 717 S Ak st A
A A2,677,422 111,134,122 108,456,700
ST A2,677,422 104,813,082 102,135,660
ERTACY 2,398,846 94,683,217 92,284,371
A A AN 22,398,846 54,850,940 52,452,094
B2y Hl] 2 A48,207 6,056,347 6,008,140
A 748,207 6,056,347 6,008,140
1. g4 ~48,207 2,251,367 2,203,160
7 FAM I A SE R a A48,207 525,670 477,463
1) AlAH] ~48,207 525,670 477,463
7 EJ A 420-03 |7,121,0009 — <7]%>23,040,0009 = A15,919 23,040 7,121
) = d A A 420-03 |56,473,0009 — <714>58,880,0008= A2,407 58,880 56,473
oh) s g 420-03 |126,989,0009 — <71%>156,870,0009 = 29,881 156,870 126,989
st A 7Y 22,350,639 48,794,593 46,443,954
g3 40,655 2,415,358 2,374,703
1. =3 A A EEA 723,688 305,196 281,508
7} ok Fak R w B35 Q)57 F £23,688 288,669 264,981
1) A1AH] ~23,688 268,264 244,576
7hH EHEd A (AHEA ) 420-03 183,014,000 — <717%>101,530,000¢ = 18,516 101,530 83,014
W) EaEA (A ESH 420-03 |123,281,0009 — <714>128,453,0009= A5,172 128,453 123,281
2. FaAA A16,967 358,115 341,148
A S B R A A6,275 81,557 75,282
1) AAn] 420-02 |452,0009 — <7]1%4>6,727,0009= 76,275 6,727 452
v FARS S 2SS A7,606 92,186 84,580
1) AAn] 420-02 |09 — <714>7,606,0008= AT7,606 7,606
1= A B e g A 3,086 92,186 89,100
1) AAn 3,086 84,580 81,494
b FuEE 420-03 |81,494,0009 — <714>84,580,0009= 73,086 84,580 81,494
FAEANA 2,309,984 46,379,235 44,069,251
1. ZAR A 21,178,007 19,552,270 18,374,263
7} W4 ~31,255 2,739,028 2,707,773
1) A1AH] A31,255 2,644,665 2,613,410
7hH FAEEE 420-03 |88,102,0009 — <71%>95,455,00094 = 7,353 95,455 88,102

— SGuAEANA - St AR - S A4
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A A 93 (k9] : 29
2 o i=]
woprg A% | BA | AT RERE % A% BES 2AFACNE | ARel | g

W) A EE 420-03 [1,303,0009 — <7]1%>11,230,0009 = A9,927 11,230 1,303
) LAtobel % 420-03 |133,611,0009 — <7]%>134,760,0009 = A1,149 134,760 133,611
b)) Ak % 420-03 143,115,0009 — <7174>44,920,0004 = A1,805 44,920 43,115
uh) FAbE g 420-03 |22,669,0009 — <7174>33,690,000¢ = A11,021 33,690 22,669
U QBT w A A492,482 7,977,593 7,485,111
1) A AN 420-02 | 140,740,0009 - <7174>163,186,0009 = A22,446 163,186 140,740
2) A]Adn) A470,036 7,794,620 7,324,584
7hH 3% 420-03 [153,859,0009 — <71%>154,860,0009 = A1,001 154,860 153,859
W) 53 420-03 |789,640,00091 — <71%>1,135,640,000¢ = A 346,000 1,135,640 789,640
o) AR =2 420-03 |1,544,936,00091 — <7]4>1,548,600,00091= £3,664 1,548,600 1,544,936
) AR = 420-03 [1,501,915,0009 — <71%>1,587,315,0004 = 285,400 1,587,315 1,501,915
n}) AR T = 420-03 | 120,889,0009 — <71%>154,860,000€ = A33,971 154,860 120,889
(IR ReARD == Sl A185,052 4,159,261 3,974,209
1) A AN 420-02 | 167,203,0009 — <71%>184,706,0004 = A17,503 184,706 167,203
2) AlAdn) A167,549 3,961,677 3,794,128
7h AR = (U KB S) 420-03 [2,020,0009 - <7]1%>14,151,000e = A12,131 14,151 2,020
W) a2 (E RS 7 420-03 184,513,0009 — <7173>187,748,0004 = A3,235 187,748 184,513
oh) AFEx (JHE RS 420-03 591,788,000¢ — <713>682,720,0004 = ~90,932 682,720 591,788
) FEX(HEE ) 420-03 |25,889,000¢ — <71%>33,490,0009= AT7,601 33,490 25,889
) AAFZ (9]H KSR 420-03 |274,204,0009 — <71%>279,058,0009 = A4,854 279,058 274,204
Hp) AR T Z (9 W K ) 420-03 80,000,0009 — <717>128,796,000d = A48,796 128,796 80,000
g, A 2R A155,324 433,596 278,272
1) A A 420-02 4,409,0009 — <717%>20,492,0008 = A16,083 20,492 4,409
2) A]Adn) A139,241 410,150 270,909
7h A skstw (HAE) 420-03 |154,694,0009 — <71%>220,850,0004 = AB6,156 220,850 154,694
W) A A FE T (ESE) 420-03 |116,215,000¢ — <7]17%4>189,300,0008 = A73,085 189,300 116,215
u}, 7]} ~313,894 2,703,319 2,389,425
) A AN 420-02 18,820,0009 — <7174>21,259,0004 = NA2,439 21,259 18,820

) A AN 420-02 049 — <7]1%>26,338,0009 = ~26,338 26,338
3) AlAdH] A269,575 2,640,180 2,370,605
7h) FARL W= (e dE) 420-03 |1,564,070,0009 — <718>1,812,752,00091= N248,682 1,812,752 1,564,070
W) #AME s (A d A g md =) 420-03 |139,307,0009 — <71%>160,200,000 = £20,893 160,200 139,307

A AR - A EAd - Staal
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A A AL (9 1)
2 o) 1=
woprg A% | BA | AT RERE %A% Az 2AFAAL | AANS | A
4) zHe) 420-04 |09 - <71%>10,304,0009 = 210,304 10,304
5) A2 F-of 8] 420-05 |09 — <71%>5,238,000¢ = A5,238 5,238
2. WHkA| A A A A32,488 1,725,825 1,693,337
7t B 32,488 1,340,825 1,308,337
1) A4 A26,129 1,293,770 1,267,641
7hH A X 420-03 109,167,000 — <714>128,320,0009 = ~19,153 128,320 109,167
W) AkokE &% 420-03 438,726,00091 — <7]14>441,100,000¢= A2,374 441,100 438,726
o Ak x 420-03 133,351,000 — <714>136,340,0009 = 72,989 136,340 133,351
) 9= 420—03 [118,687,0009 — <714>120,300,000¢ = A1,613 120,300 118,687
2) A7 HF-dn] 420-05 |770,0009 — <7]1%>7,129,0008= £6,359 7,129 770
3. A AdtAANA 299,912 7,509,067 7,808,979
A R IR 1,047,905 1,047,905
1) R KA A 294,905 294,905
7b WA %(1,397m) 420-02 |10,181,0009 x 12]= 10,181 10,181
W) #AME EX(6,681m') 420-02 |45,818,0009 x 14]= 45,818 45,818
oh) TARS- % (5,205m) 420-02 131,393,0009 x 14 = 31,393 31,393
) TAFS 2 (4,729 ) 420-02 142,424,0009 x 14 = 42,424 42,424
v} AA% (688 m?) 420-02 |20,000,000¢] x 141 = 20,000 20,000
v 3% (1,719m) 420-02 |11,030,0009 X 14]= 11,030 11,030
AP AR EF (2,537 ) 420-02 |20,363,0009 X 14]= 20,363 20,363
op) FARIEF (5,443 m) 420-02 35,636,000 x 12 = 35,636 35,636
2b) AR A F3L(9,778m') 420-02 167,030,0009 x 1] = 67,030 67,030
ZH ARSI (1,571 m) 420-02 |11,030,0009 x12= 11,030 11,030
2) R R 7FAF 753,000 753,000
7h) A3 A% (688 m?) 420-03 |300,000,0009 x 12 = 300,000 300,000
W S5-%(1,719m) 420-03 |285,000,0009 x 12 = 285,000 285,000
oh) ARSI (1,571m) 420-03 |168,000,000€) x 14 = 168,000 168,000
15 et s e ~12,059 85,094 73,035
1) A1AH] A12,059 85,094 73,035
7h 93 % 420-01 |5,382,0009 — <7]%>6,822,0009= A1,440 6,822 5,382
W) FAbs 420-01 |5,643,0009 — <71%>8,050,0009 = A2,407 8,050 5,643
) % 420-01 |09 — <71 4>1,862,0009 = A1,862 1,862
W - folU2FFES — StuA LA — AN — St EE A
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A A AL (9 1)
2 o) 1=
woprg A% | BA | AT AL ] 2 A= RENE %A | AR | g
2h) T 420-01 3,890,000 — <7]14>6,168,000 = ~2,278 6,168 3,890
") FA A E T 1 420-01 |16,110,0009 — <71%>20,182,000¢ = ~4,072 20,182 16,110
= SRR IR RAY ~208,334 1,609,843 1,401,509
1) WX RAAA A18,796 160,618 141,822
7H A2F% 420-02 |38,220,0009 — <71%>40,000,0009 = A1,780 40,000 38,220
) AAakx 420-03 3,602,000 — <7]1%4>20,618,0009= A17,016 20,618 3,602
2) YA KB Z3TA} ~189,538 1,449,225 1,259,687
7 kA % (4819.56m") 420-03 [321,788,0009 — <714>370,000,0009 = ~48,212 370,000 321,788
) AR % (4,132.8m0) 420-03 220,000,00091 — <714>300,000,000¢= ~80,000 300,000 220,000
o A28% 420-03 |285,604,0009 — <71%>299,225,0009 = ~13,621 299,225 285,604
2h) 7Heln] (FHAkA sl &) 420-04 |15,745,0009 — <71%>30,000,0004 = A14,255 30,000 15,745
vh) AdAkx(1,211m) 420-03 [116,550,0009 — <7]1%>150,000,000¢ = A33,450 150,000 116,550
2f, (A ) A ~194,762 1,352,824 1,158,062
1) A A 420-02 120,421,0009 — <71%>46,416,0009 = 225,995 46,416 20,421
2) Al’dH] A168,767 1,298,951 1,130,184
7hH mEx 420-03 [11,997,0009 — <7]1%>53,458,0009 = A41,461 53,458 11,997
W) dd = 420—03 |54,935,0009 — <714>66,823,0009 = A11,888 66,823 54,935
o) AR 420-03 |579,536,0009 — <71%8>694,954,000 = A115,418 694,954 579,536
v}, E2fo]H| E u A A 39,869 2,857,363 2,817,494
1) A1AH] 239,869 2,747,648 2,707,779
7hH FAEYE 420-03 |260,655,0009 — <71%>300,524,0009 = 39,869 300,524 260,655
vl - ~253,159 416,100 162,941
1) A4 ~253,159 416,100 162,941
7H SR AEY 420-03 (162,941,000 — <7]1%>416,100,000¢4 = A253,159 416,100 162,941
A WA E 39,810 119,756 79,946
1) Al4dn] 39,810 111,160 71,350
7hH Ak x 420-03 |71,350,0009 — <71%>111,160,000¢ = 239,810 111,160 71,350
4, ABIAANA 355,387 2,869,214 2,513,827
7}, 71 €k 252,000 636,000 584,000
1) A1AH] 52,000 636,000 584,000
7h) A 1 (H 2 E) 420-03 |09 - <71%>52,000,000¢ = A52,000 52,000
L} A ~303,387 2,083,217 1,779,830
WE - FOFREFEWS — SwA Lol AN — SFmANAN — A LA A
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T A A (5H9] - A Q)
woprg A% | BA | AT el B RENE 23 %AolL | el | g A
1) &% 213,333 189,720 176,387
7H Az 420-03 |109,427,0009 — <71%>122,760,0009 = ~13,333 122,760 109,427
2) £u 229,200 29,200
7h =1 420-03 |09 — <71%>29,200,0009 = ~29,200 29,200
3) W= A89,084 318,712 229,628
7h stEa 420-03 |09 - <71%>16,632,0004 = 216,632 16,632
W) TAPEER 420-03 187,527,0009] — <7]14>88,830,000¢ = A1,303 88,830 87,527
H Ak 420-03 4,451,000 — <7]1%>37,800,000¢= 33,349 37,800 4,451
2 A A EY 1 420-03 |09 — <71%>37,800,0009= ~37,800 37,800
4) % A93,570 1,080,641 987,071
7hH A SF 420-03 110,248,0009 — <7]%8>22,848,0009 = ~12,600 22,848 10,248
W) AR E 5 420-03 [145,618,0009 — <7]1%>157,500,000¢4 = A11,882 157,500 145,618
o AT EE 420-03 169,848,0009 — <71%>126,000,000¢ = ~56,152 126,000 69,848
2h) FA T x 420-03 17,072,0009 — <714>30,008,000¢ = ~12,936 30,008 17,072
5 ddEE ~67,200 150,720 83,520
7H 51 420-03 |09 — <7173>67,200,0009 = 267,200 67,200
6) 7]E} A11,000 206,848 195,848
7H AR E S (L E) 420-03 26,440,000 — <71%>37,440,000¢ = A11,000 37,440 26,440
5. A7 XA NA £108,826 1,453,580 1,344,754
7} 2 A1 (LED) ~80,762 219,285 138,523
1) A1AH] ~80,762 208,770 128,008
7hH TAFE TR (A E AL 420-03 183,731,0009 — <71%>107,900,000¢ = A24,169 107,900 83,731
W) FAR R 420-03 09l — <7]1%>24,900,0009 = A 24,900 24,900
o A= 420-03 |09 - <71%>16,600,0009= 16,600 16,600
) 3% 420—03 |4,437,0009 — <7]14>5,520,0008 = A1,083 5,520 4,437
) A= 420-03 13,960,0009 — <714>5,520,0004 = A1,560 5,520 3,960
up) v Ex 420-03 09 - <7]14>12,450,0009 = A12,450 12,450
. gz Al A A A 15,064 126,045 110,981
1) A AH] 420-02 14,064,000 — <7]14>6,045,000 = 71,981 6,045 4,064
2) A]Adn] ~13,083 120,000 106,917
7hH Ak 420-03 149,100,0009 — <71%>60,000,000¢ = 210,900 60,000 49,100
W 3E= 420-03 |57,817,0009 — <71%>60,000,000¢ = 22,183 60,000 57,817
WE - FOFREFEWS — SwA Lol AN — SFmANAN — A LA A
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i IR R B R (cke] : W)
woprg A% | BA | AT RERE ENE Az 2AFAAL | AANS | A
L= S P P e R | 213,000 1,041,026 1,028,026
1) A1AH] 13,000 1,038,198 1,025,198
7H AEQ] ol 420—03 |80,744,0009 — <71%>93,744,0009 = 213,000 93,744 80,744
6. AN AANETTEF 769,564 1,230,375 1,160,811
7} A A A S A 269,564 1,230,375 1,160,811
1) FAME A 620—04 |171,622,0009 — <71%>174,500,0009 = A2,878 174,500 171,622
2) AL 620—04 |61,237,0009 — <71%>62,730,0009= A1,493 62,730 61,237
3) Tkt 620—04 |14,007,000€ — <71%>79,200,000¢ = 765,193 79,200 14,007
7. AN £234,355 4,314,634 4,080,279
- A | ~234,355 4,314,634 4,080,279
1) A]AdH] A234,355 4,183,200 3,948,845
7h =1 420-03 1379,978,0009 — <71%>418,320,0009 = 38,342 418,320 379,978
) Az 420—-03 [179,078,0009 — <714>209,160,000¢ = A30,082 209,160 179,078
=5 e o 420-03 |75,662,0009 — <7174>104,580,000¢ = ~28,918 104,580 75,662
2h) A Ex 420-03 1943,510,0009 — <71%>993,510,0009 = 50,000 993,510 943,510
uph) ARG E 420-03 |385,520,0009 — <71%>418,320,0009 = A32,800 418,320 385,520
Hp) AR A 2L 420-03 |364,107,0009 — <71%>418,320,0009 = ~54,213 418,320 364,107
8. A A tA A (AHR) 195,518 31,725 227,243
7t Az A A G e 100,549 100,549
1) A= 620—13 |100,549,0009 x 1/l .= 100,549 100,549
15 SRS IR 94,969 94,969
IDIRE EARRA S| 16,969 16,969
7hH FAtE <t (6,689m’) 620—11 |16,969,000¢ x 14 = 16,969 16,969
2) YA KB Z3TA} 78,000 78,000
7hH At (6,689m’) 620-11 |78,000,0009 x 12 = 78,000 78,000
9. 1I-UANEAF AB826,787 6,128,717 5,301,930
7F A RS ENE AT768,829 768,829
1) AJAdH] 420-03 |09 — <714>768,829,0009 = AT68,829 768,829
U SExEAFsRdE ~425,439 425,439
1) AlAH] 420-03 0¥ — <7]1%>425,439,0009 = A425,439 425,439
o FAMF G 2SN S 959,376 513,444 1,472,820
1) AJAH] 420-03 [1,472,820,0009 — <7]1%>513,444,0009 = 959,376 513,444 1,472,820
B - FoldxFFeus — Stur oA — StuwA A — St A E S A
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DR I B P (] A e)
X (e} H
woprg A% | BA | AT RERE %A% Az 2AFAAL | AANS | A
i yrzEaEqE A 286,814 286,814
1) A]An 420-03 |09 — <717%>286,814,0009 = A286,814 286,814
nh N2 EAENE £305,081 305,081
1) A]Adn) 420-03 |09 — <7]%>305,081,000¢ = A305,081 305,081
XA A278,576 10,129,865 9,851,289
AP A Auk £183,205 8,995,506 8,812,301
B A0 ) X] A] &) A183,205 8,144,263 7,961,058
A0 ) %) A 2] 2] £183,205 3,779,541 3,596,336
1. B8 AR Y £169,910 3,496,561 3,326,651
7]—. ﬁkﬂﬂ‘]ioul i]—g 210—-07 |2,432,778,000¢ — <7]7>2,538,186,000= A 105,408 2,538,186 2,432,778
L AA B A AR S B AT 310-02 |85,784,0009 ~ <7]1%>122,345,0009= A36,561 122,345 85.784
o}, A A AAH AL AR 210-07 |72,963,0009 — <71%>87,904,000¢= A14,941 87,904 72,963
2}, B8 AT 430-01 |447,000,0009 — <71%>460,000,000¢= A13,000 460,000 447,000
2. FAE 3= ¢ A13,295 275,930 262,635
7}, Bh<2] A13,295 102,000 88,705
1) 4181748 310-01 |13,947,000¢ ~ <71%>18,000,0004= A 4,053 18,000 13,947
2) A sHAY 310-01 74,758,000 — <71%>84,000,000¢1= £9,242 84,000 74,758
PEEX A95,371 1,134,359 1,038,988
TS A7) AAA A95,371 557,538 462,167
BN AR B £95,371 557,538 462,167
| 1. SR LAZAA 295,371 557,538 462,167
| 7}, s 2] Y AlE A ~795,371 400,668 305,297
| 1) A]Adn £95,371 400,668 305,297
| 7h) 91335 A 420-03 |111,109,000¢] — <7]%>206,480,0004¢ = £95,371 206,480 111,109

— WEPF7IAANE - TBA LA B

16




AEZE A (K8 /4 47 8)

S s B R A (9] - 4
=] A t}o A5 - o= -

gy S0 | N3 AT RERE %A% RESE 2AFAAN | A | A
37 A524,275 42,189,649 41,665,374
b S A524,317 41,800,779 41,276,462
folU == S A524,317 41,340,479 40,816,162
AFFSEFEA Y 243,000 9,418,350 9,175,350
TR B R A 243,000 8,222,414 7,979,414
AEHRFEFAANA £243,000 7,831,188 7,588,188
1. A SA A B A 243,000 7,831,188 7,588,188
7F RS 27 AL 10,000 1,173,200 1,163,200
1) AAn)] 10,000 1,173,200 1,163,200
7 el Al A 420—02 1998,000,00049 — <71%>1,008,000,000¢ = A10,000 1,008,000 998,000
U 5992 AT A 5 S Al = A188,000 1,895,753 1,707,753
1) }\]/‘\?4_];]] 420-03 |1,707,753,000¢ — <7]1%>1,895,753,000¢ = A188,000 1,895,753 1,707,753
th 9 2 A RAS A AL A A ~20,000 141,202 121,202
1) A]An] £~20,000 136,824 116,824
7hH A EXR 420—03 |44,464,0009 — <717>64,464,0009 = A~20,000 64,464 44,464
gt SHEATEASALEIAL A A 25,000 121,662 96,662
1) AAH] A 25,000 117,808 92,808
7hH ZAYEZA 420-03 |51,488,0009 — <7]%>55,488,0009= ~4,000 55,488 51,488
) H AN 420-03 |200,0009 — <7]1%4>5,200,0009= A5,000 5,200 200
th) ZeAgulchA 420-03 |41,120,0009 — <71%4>57,120,0009 = A16,000 57,120 41,120
RAGA A281,317 31,782,129 31,500,812
F243g A281,317 31,771,529 31,490,212
st FA4-E9 79,697 25,542,795 25,533,098
1. 522820029 79,697 1,103,074 1,093,377
7}, SEEAER Y A5,384 612,819 607,435
1) 29 A 620—10 |45,581,0009 — <71%4>47,610,0009= A~2,029 47,610 45,581
2) 258kl A198 271,393 271,195
7hH == 610-01 7,802,000 — <7]17>8,000,0008 = A198 8,000 7,802
3) T A3,157 139,778 136,621
b AHL 620—10 |24,843,0009 — <71%>28,000,000¢ = ~3,157 28,000 24,843
L ARG sAHEA A ~4,313 490,255 485,942
1) XY A 620-10 36,464,0009 — <7]174>38,088,0009 = A1,624 38,088 36,464

W5 — ol 2Fsus — B4 — 9438 — w9y
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e R e R A (9] - H)
woprg A% | BA | AT A e 2= e 232 | AR | g A

2) 2=8ky AT58 217,114 216,356

b =9 610-01 [6,242,0009 — <7]1%>7,000,000¢ = AT58 7,000 6,242

3) =8t ~1,931 111,822 109,891

7H AHH 620—10 |20,069,0009 — <71%>22,000,000¢ = A1,931 22,000 20,069

St FAFAMA A271,620 6,228,734 5,957,114

1. I FLA A= £271,620 6,228,734 5,957,114

= R B RS RER BE) ~271,620 435,435 163,815

) ¥Hx 620—-03 |15,477,0009 — <71%>213,517,0009 = ~198,040 213,517 15,477

2) ¥H%E 620-03 |41,873,0009 — <71%>115,453,0008= AT3,580 115,453 41,873

of B] H] 42 60,394 60,436

of 1] 1] 42 60,394 60,436

of B v L 7] e} 42 60,394 60,436

B 42 60,394 60,436

AAETT 42 60,394 60,436

1. AANEZE 42 60,394 60,436

7F A AA B2 ] S o) 42 60,394 60,436

1) 87| =F2n) 29 710-02 160,436,000 — <7]18>60,394,0009 = 42 60,394 60,436

oAHIB] — o u|n] — AR GLYTE — HIH| LT E - AAE TS
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